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Note : Question No. 1 is compulsory, answer any FI VE questions from the remaining.

(ii) WW%MW#WWWWW/
Solve all parts of a question consecutively together.
(iii) Y% 5 &1 79 98 @ IRE] e |
Start each question on fresh page.
(iv) ﬁ#wﬁﬁmg}#ﬁ@ﬁﬁmmﬁmg‘/

Only English version is valid in case of difference in both the languages.
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Explain the following in brief :

() e TR
Relative stability
(ii) er T
Phase Margin

(i) faroreT whiagor bt o6 A ferfed |

Name the various test signals.
(iv) sitferes Wi e a3 e g el |

Write the formula and name of ideal elements in linear physical system.
v) TgﬂTFEIH?HWFEWTa’ﬁﬁWW |

Write the differences between open loop and closed loop system. (2%5)
(10f4) P.T.O.
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2.
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What is meant by transfer function ? Determine the transfer function of the electrical
network shown in figure.

(2+10)
(i) dTTyERF IR RRHFAE ?
What are the three types of error constants ?
(ii) WIS AT TAM % FTT IR Yetva Rl h RgeTr iR |
Discuss the four basic factors for plotting Bode plot. (6+6)
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By using the Root-Locus technique, draw the graph of open loop transfer function of a

feedback system given below. Also analyse the calculations by using various formulas.

K
s(s + 4) (s% + 4s + 20)

G(s) H(s) = (12)

fraferRe srror wer 1 912 ImM@ A 1Ed 9 sTavEs A SR |

Draw the ‘Bode’ plot of the following transfer function and do the necessary
calculations.

64(s +2)
s(s + 0.5) (s2 + 3.2s + 64)

G(s)= 12)

sgardr frforfa aefieo i fra 6 site wey R fugra gra 61fm |

By means of the Routh criterion, determine the stablhty of the system represented by
given polynomial.

s8+2s5 + 8s* + 1257 + 2052 + 165 + 16 = 0 (12)
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7.
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Explain the signal flow graph Mason’s gain formula and find out the transfer function
of multiple loop system in a figure shown. ’

R(S) 5 sl—C®
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(12)

e W st feoaferat forfted « (R Q)
Write the short notes on the following : (any two)
(i) duaH.
P.L.C.
(i) dHw.
D.CS.
(i) .84
D.D.C. (6x2)
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